Homework Chapter 7
Q1. A production company’s 350 hourly employees average 37.6 years of age, with a standard deviation of 8.3 years. If a random sample of 45 hourly employees is taken, what is the probability that the sample will have an average age of less than 40 years?

Q2. If 10% of a population of parts is defective, what is the probability of randomly selecting 80 parts and finding that 12 or more parts are defective?

Q3. In a random sample of 64 people, 48 are classified as ‘single’.

(a) Determine the sample proportion, p, of ‘single’ people.

(b) If the population proportion is 0.70, determine the standard error of the proportion.

Q4. Suppose that during any hour in a large department store, the average number of shoppers is 448, with a standard deviation of 21 shoppers. What is the probability that a random sample of 49 different shopping hours will yield a sample mean between 441 and 446 shoppers?

Q5. A simple random sample of n = 300 full time employees is selected from a company list containing the names of all N = 5,000 full time employees in order to evaluate job satisfaction.

(a) Give an example of possible coverage error.

(b) Give an example of possible nonresponse error.

(c) Give an example of possible sampling error.

(d) Give an example of possible measurement error.
